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2O 1000
E(OF = 100
=08 500
=HO 500
{0} 1000
BOFH 100
mOB 500
30} = 400
EO3E 200
BEO%E 500
BEO= 500
HOE 1000
202 2000
ZOR 1500
ZIOE 1000
BOE 200
EOIF 500
BEO® 100
O 1000
2O 500
O 1000
MOki 300
Z0AxL-415 100
Z0A1-20082 200
=0 A1-52477 300

STRERE OB BRI |

IO 100
7O 100
7O 100
F O 100
FOE 1000
FOs 100
FO%R 100
TOR 100
FOZ 150
E0}: 100
=07 100
RO 500
Z1OF:4 600
mO&F 500
FOFRF 500
ZOR 1000
O 500
O’ 100
BO= 10000
MO= 500
Ok 100
MOH 2000
MO% 200
B0 200
RO B 5000
RO 100
ROR 500
ROIE 500
105 100
FOIR 1000
BRO%n 200
BROZ= 500
BRO#& 300
RO 1000
RO 1000
ZOHm 2000
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